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9,000 *1501x204! 2,700
Ox224+d 1187 6,135
0&g= 50,0002 %1501x2% 1,500
0&st= 60,0002 %1501 1% 900
0ot& 3t 60,0009 %1501%0% 1,800
00+ 8,000 %1501x2% 240
02 20,0009 +15Q1x2%t 600
0B S 90,000 *801x 1= 720
0etME0orA 25,0002 «15Q1x 1= 375
ONSYTAIY HHEE {0
185,000 %271 A 4,995
OEZE4 SEAUA
170,0002% 159! 2,550
P B329| 10,780 11,733 N953
OHBHU= EHH 20
1,47024%362| E{+60CH+23] 6,351
OuWFI|l 27 8,000 *x20=+150H 2,400
OuFI| g7
1,61020%1.22|E{*15CH+703] 2,029
202 O4H| 10,500 10,500
ENEE] 10,500 10,500
2R3 200,000 x401%122 9,600
OE2842 H/nAsH o]
30,0009 %1501%23] 900
206 HEH] 41,100 51,100 10,000
01 24l 41,100 51,100 10,000
OYEAL Ot =& 3002%5,0000H 1,500
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M ALt
HE: CRALA
el CERAAALY (Crel: =21
2A -3 - A(3) - MRAKY - BES Oil &l &E& HlwsZ
OgA 7e 10,000 %700 7,000
O gsizs P
11,50024%2, 000 CH 23,000
OEELI==L] 12,0002 +800 ZCH 9,600
405 RHAHESHI 10,050 5,050 5,000
01 MM ESFEHI 10,050 5,050 5,000
OuWl=J| 7 650,000 %4CH 2,600
OJIHS(2XS) 7Y 800,000 *2CH 1,600
OdIxIE=20F ¢ 850,000 % 1CH 850
ONI&ZY 252 2 5,000,000 5,000
OEl0I2 57 IHEAISE (HEALY) 280,000 110,000 170,000
= 140,000
= 140,000
401 AlEHIZL 204G 280,000 110,000 170,000
= 140,000
= 140,000
1 A&l 280,000 110,000 170,000
O0eI0IESTY i A
51,000,000 %54 A~ 255,000
< 127,500
= 127,500
OO0ZI0I25 7N AEHZAL
25,000,000& 25,000
= 12,500
= 12,500
SHEZZEHIAIY 2,845,206 7,313,500 A4,468,294
= 500,000
= 2,345,206
SHEEZZ HHIAIY 2,145,206 5,413,500 A\3,268,294
1 A EEIZ LY 2,145,206 5,413,500 A\3,268,2%4
1 A&l 2,135,000 5,400,000 A3,265,000
OXHE AMEXR(2IE210846) 22 E S AL
500,000,000 500,000
Ouel XI40te sSHETR(2IE3045H) &
TEDAL 820,000,000 820,000
O2lE2015 L20IE sHEZZ HESAH
240,000,000 240,000
QI MAZZ2(2|S2065) EIEZAL
300,000,000 300,000
Qo2 A2lg 2 SEHTAH2IE2165)
275,000,000 275,000
03 AlE=CHYI 10,206 13,500 A3,294
OAlE=Tbl 2,835,000, 0002*0. 36% 10,206
S2I0I2 RIAETE SIEE SAL 700,000 0 700,000
= 500,000
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SA: AL
MY C2ASAY
Eel: sSHECZEUIAY (S &)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
= 200,000
401 AIEBI L2 700,000 0 700,000
= 500,000
2 200,000
01 AlZH 700,000 0 700,000
O=cl0tE RAE=2 SHEE AL
700,000,0002! 700,000
= 500,000
2 200,000
2 HUA 4,473,708 603,780 3,869,928
= 400,000
2 4,073,708
25 ZHIA 1,033,708 603,780 429,928
401 ANEBI L2 1,033,708 603,780 429,928
01 AlZH 1,030,000 600,000 430,000
O 1bSE ME|CR SI™UXZ AXISA
200,000,0002! 200,000
ORCS0IE 2E245 T2 L ESAL
150,000,000 150,000
OANE BEXT M2 SHEIBAL
300,000,0008! 300,000
O2E2BSH SEXF T2 ILESAL
300,000,0008! 300,000
OREB5H DXXT IS FH|A
80,000,000 80,000
03 AlIE=20HYI 3,708 3,780 AT2
OAIE 20 1,080,000, 0002+0.36% 3,708
X ADINT SIEEE TENEAS (MEALY) 800,000 0 800,000
= 400,000
2 400,000
401 ANEBI L2 800,000 0 800,000
= 400,000
2 400,000
01 AlZH 800,000 0 800,000
OXtet ADIXIT SIEEE PEMA ALY
800,000,0002! 800,000
= 400,000
2 400,000
Tiors AZMEH orNst 2,640,000 0 2,640,000
401 AIEBI L2 2,640,000 0 2,640,000
01 AlZH 2,640,000 0 2,640,000
OZE2ASH(EZEXF) C2EHLTTAH2023
WENIES) 2,640,000,0002! 2,640,000
WEOIEE JIEIE2AIY 3,531,201 6,662,826 13,151,625
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A A4
I C2HLAIY
©9l: WEIHS JIEEZAI (ctel:®e)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
wEkRe | AN 569,566 569, 566
401 Al&BIZ R0 569,566 569, 566
01 Al&HI 566,000 566,000
OLSFUHAZA(2BALEE 1400L)
66,000,000 66,000
OUUINMEAZA(ZBAIES 10402)
50,000,000 50,000
OUSINMEAZA(D|EILEF 500HL)
50,000,0002 50,000
OuERAEx 400,000,000 400,000
03 AlIE=S20HYI 3,566 3,566 0
OAl4 20| 566,000, 0002*0 . 63% 3,566
S2RA2C|AY 2,073,072 2,674,512 A601,440
201 L2 3| 45,800 45,800 0
02 B3=2ZH| 45,800 45,800 0
O02I0IESS0CTV M 22
1,000,000 *12& 12,000
OJzs &Ie=a 500,0002%122 6,000
OZZAIES(Z=EX, OV S) SRS
50,000+ 104 L+ 12 6,000
OZ2E2E) M)z
50,0002 *3=+12& 1,800
OF2gd I3 5,000,0002+4< 20,000
401 Al&EBIZ S| 2,027,272 2,628,712 A601,440
01 Al&HI 2,020,000 2,620,000 600,000
Ok 4 sHELZ A0
300,000,000 300,000
O AT AALY 200,000,000 200,000
OsHEZZAH S A ALY
200,000,000 200,000
O&=zH EHD] L EFHAHA
700,000,0002 700,000
OLZ THollRIEXl B 300,000,000 300,000
OE=2ZAI4 2= EHIN 100,000,000 100,000
Ozz&el8 IV, &K S FE=
20,000,0002 20,000
Oonl2EX 242 X2 200,000,000 200,000
03 AIES20HYI 7,272 8,712 A1,440
OAIE 20| 2.,020,000,000240 . 36% 7,272
SEHE F0I=RAAY 888,563 2,438,748 21,550,185
401 AlEBIZ 20| 888,563 2,438,748 21,550,185
01 Al&H| 883,000 2,430,000 1,547,000
Oxtg 2lE2138E (=X 7) OtABH ML)
SAF 150,000,000} 150,000
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SN 2D
M C22AMA
9. DEIHES JIEIEZAY

HEE

2A -3 - A(3) - MRAKY - BES Oil &l Ol AFoH HlwsZ
OXE 2E8SH(REXT) 25T JHI=
Al 15,000, 000! 15,000
ME PZIBSH(ERXT)SASZ B
SA 20,000,0002 20,000
O2M AHZEDIE TYUZ =2 HHIBAHZ
E303) 45,000,000 45,000
O RELIE 2598 TZ2EIXY DA}
70,000,000 70,000
O&E W20tE 25138 S2HHI2At
110,000,000 110,000
OAIE 2IE2055 6 (20 S 8iX| 2 HH|Z
Al 33,000,0002 33,000
O B2 (0IEEXNR)NUEZ ST E
SAH 100,000,000 100,000
Ottty 2|T2055 (SEXP)EUEE S E
=\ 200,000,000 200,000
OllIgH £X0IE 235 XEY C25
DA 90,000,0002! 90,000
Orlot 2|E2078H &2 SLESA}
50,000,000 50,000
03 AIES20HYI 5,563 8,748 A3,185
OAl4 20| 883,000, 0002*0 .63% 5,563
ot HH| 11,870,750 13,714,148 A1,843,398
= 722,000
= 896,000
= 10,252,750
Xgstaate] 4,481,205 4,631,14 A149,989
= 687,000
= 896,000
= 2,898,205
ot 7l &e |2 522,898 495,177 27,721
101 2124b| 16,138 17,657 A1,519
04 J12HHI2Z2 RSB 16,138 17,657 A1,519
Ootd EYHAEE o= Q3 2124H| 16,138
0123 80,24024x201x90 14,444
0=els 14,444 ,00024%4 . 5% 650
0HSEE 14,444 00024 %3 545% 513
OLQIZD | QUAES 1,024,06024%12.95% 133
UnE=Lh=: 14,444, 0002%1.75% 253
M HEES 14,444, 00024 %1% 145
201 et 3FH| 58,160 48,920 9,240
01 AtR2teld| 37,160 36,920 240
OSAHI(GIRYGRFE)
9,000 *321x804 2,160
OOIE8X 2S84 OIS =22
500,000 +7024 35,000

_630_




2A:

Bu: 5 H|
ol XI2otE 2tel (el &)
SN - FH . S(31) - NBAR - BES O bl e imE=T
02 2222H| 21,000 12,000 9,000
OXILEHA Hi42 |2
400,00021% 122 4,800
O olcn A ®MI|Q2
450,00021% 122 5,400
OARRIIISE &JIR3 200,0002*122 2,400
O=20t6t& A2 ®D122
300,00024* 122 3,600
OABIE ADIEHSZIZ| AIAL HI|Q3
150,0002%12% 1,800
OBIEAILE (CTV S8IE
250,000 21% 122 3,000
202 Ot 3,600 3,600
01 =LH0] 3,600 3,600
Ot AR+ 100,000 *301x 122 3,600
401 AZHI 220 445,000 425,000 20,000
01 AI&HI 445,000 425,000 20,000
O=H St MR
15,000,000 %114 A 165,000
OFH HILZEHIIAY
15,000,000 %114 A 165,000
OBta AIES(FD], 013, 2E2) 22
20,000,000 %571 A 100,000
OBlA 22| SHHBHMYDIED|, SHER)S
Al 500, 0002430744 15,000
NER RIS 742,000 510,000 232,000
[~ 371,000
= 371,000
401 AEHI 220 742,000 510,000 232,000
[~ 371,000
= 371,000
01 Al&HI 742,000 510,000 232,000
OXILEHA SITHHI(FL) Ar
546,000,000 546,000
[= 273,000
= 273,000
OB BIAEHZ ZQURICTIAIL A XA
46,000,000 46,000
[= 23,000
= 23,000
OX|LeH RXI22IALY
150,000,000 150,000
[= 75,000
= 75,000
26l A A 22 (401 29) 437,000 494,600 57,600
2 437,000




SN

LSRR 8P'E e=lsl
P Aok 2 (G M)
SA - B O9(3) - NIRAR - BaS Ol &b e e
401 AlEHIL S 0HY] 437,000 494,600 /57,600
= 437,000
01 Al&H| 437,000 494,600 A57,600
O=0t5td FRIZeIAtS
437,000,000 437,000
= 437,000
Xokd A2 EHIA 1,479,307 1,091,917 387,390
401 AlEHIL S 0HY] 1,479,307 1,091,917 387,390
01 Al&H| 1,474,000 1,088,000 386,000
OSMHH(BHAXIT) Stat BLBA
40,000,0002 40,000
OBEA HEE =0 ZHISA
50,000,000 50,000
OUGHAI+ &Y 22 HXISA
185,000,000 185,000
O (A7) XILoHe EHISAH
70,000,0002 70,000
OAEE(SHaXIT) S0 ZHISA
440,000,000 440,000
OH2& MY HUISAH 54,000,0002 54,000
OAIHXIZ Gt fIEAIE=S EHISBA
35,000,000& 35,000
OEHA otdE MM FHISAH
500,000,000& 500,000
OXgotd DI=EX Bo= X2
100,000,000 100,000
03 A2 20HHI 5,307 3,917 1,390
OAl4 20| 1,474,000, 00024%0 . 36% 5,307
SE NATHHAZE NS X FHIAY 500,000 600,000 100,000
= 250,000
& 125,000
= 125,000
401 AlEHIL S 0HY] 500,000 600, 000 100,000
= 250,000
& 125,000
= 125,000
01 Al&H| 500,000 600, 000 100,000
OZE XMAMHAIENLXIF EHIA
500,000,000& 500,000
= 250,000
& 125,000
= 125,000
ZAH(ZAAT) Lototd ZHIA 300,000 0 300,000
& 150,000
= 150,000
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2EA: 241

3 8}’; elal
P Aok 2 (G M)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
401 AIZHIZL R0 300,000 0 300,000
= 150,000
= 150,000
01 AlZ2H| 300,000 0 300,000
OZHA(2dX7) Letotd ZHIA
300,000,000 300,000
< 150,000
= 150,000
ZEH(SENF) L6k FHIA 100,000 0 100,000
< 50,000
= 50,000
401 AIZHIZL R0 100,000 0 100,000
< 50,000
= 50,000
01 AlZ2H| 100,000 0 100,000
OYEH(SEXT) Letotd ZHIA
100,000,000 100,000
< 50,000
= 50,000
SEH(UHSRAT) Letotd ZHIA 400,000 0 400,000
< 200,000
= 200,000
401 AIZHIZL R0 400,000 0 400,000
< 200,000
= 200,000
01 Al£2H| 400,000 0 400,000
Od=H(LH=RI7) Letotd ZHIA
400,000,000 400,000
< 200,000
= 200,000
gZEFENY XA 237,930 237,930 0
g2 HFHAS NHAE 237,930 237,930 0
401 AIZHIZL R0 237,930 237,930 0
01 AlZ2H| 237,930 237,930 0
Ogadd =g X2AE
237,930,000& 237,930
2ot =2l 6,081,777 7,339,624 A1,257,847
= 35,000
= 6,046,777
Entel FSEENRE el goa! 1,319,734 2,660,544 A1,340,810
401 AIZHIZL R0 1,319,734 2,660,544 1,340,810
01 AlZ2H| 1,315,000 2,651,000 /1,336,000
OS20l2 22HB 2518 IUIBA
100,000,000 100,000




SN
X XH -
(=

o
el

HEE

2A -3 - A(3) - MRAKY - BES Oil &l Ol AFoH HlwsZ
O&4 =& Aold HBIZ2A
100,000,000 100,000
O&tH A0t HUISA 40,000,0002 40,000
oY= £XE Aold HHIBAM
278,000,000 278,000
O33 #2I0I12 A0k& HBISA
90,000,0002 90,000
O&= A0td HUIZSA 75,000,0002 75,000
O&2H(AE) Adtd S0F HUIBA
100,000, 000& 100,000
OO0t A5t& FHISAt 100,000,000 100,000
ONE AotE HBIBAF 80,000,0002! 80,000
O&2| A6t& HUISA 120,000,000 120,000
O30t A5HA MY HHISAH
90,000,0002 90,000
OHE A2le Aold HUIBSA
60,000,0002 60,000
OFAL 2HEZ A0I& FBISA
60,000,0002 60,000
OAoHd Yl 85 SH AR &E 229
22,000,0002 22,000
03 Al&=2CHYI 4,734 9,544 24,810
OAlE=Tibl 1,315,000, 0002+0. 36% 4,734
ADIEAS A A RS ALY 70,000 70,000 0
= 35,000
= 35,000
401 AIEHIZ 208 70,000 70,000 0
= 35,000
= 35,000
01 Al&H| 70,000 70,000 0
O=AH ADEHS2L 25
70,000,0002 70,000
= 35,000
= 35,000
20r2 A5t HUISAHEEAIY) 1,500,000 1,500,000
401 AIEHIZ 20U 1,500,000 1,500,000
01 Al&H| 1,500,000 1,500,000
O30tz Aotd HHISAHFEALR)
1,500,000,000& 1,500,000
E& Aot HHIZAHFEEAIY) 1,500,000 1,500,000
401 AIEHIZ 208 1,500,000 1,500,000
01 Al&H| 1,500,000 1,500,000
OEE A6Id MHISAHEEAIY)
1,500,000,000& 1,500,000
S4b AGHE HHIBAHEEIAIY) 1,000,000 0 1,000,000
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A HED
M SHA F|
&2l ActE X2l (G M)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
401 Al&BIL20HY] 1,000,000 1,000,000
01 AIZHI 1,000,000 1,000,000
OS4F ASHE MH|IZAHEEAIY)
1,000, 000,000 1,000,000
QE NYS ASH HHIZAHTEAN) 692,043 692,043
401 Al&BIL 20| 692,043 692,043
01 AlZHI 692,043 692,043
ORE MYZ AGHA HUIZAHEESAIY)
692,043,0002! 692,043
PSR 1,069,838 1,505,400 N435,562
SHAEI R SR HAIY 1,069,838 1,505,400 N435,562
401 Al&BIL 20| 1,069,838 1,505,400 N435,562
01 AIZHI 1,066,000 1,500,000 A434,000
Ootd == MAHAMS 766,000,000 766,000
OBH REXNEHS MHAKY
300,000,000 300,000
03 AlZSCHY| 3,838 5,400 A1,562
OAlZ= bl 1,066,000, 0002 0. 36% 3,833
=D |BHEHIAY 22,839,573 15,986,972 6,852,601
[ 575,600
= 22,263,973
=D |BHEHIALY 1,126,540 870,461 256,079
[= 575,600
= 550,940
SD[EHEHIAIE 2 266,540 240,461 26,079
101 o124] 46,240 41,798 4,442
M IIH2Z2NEES 46,240 41,798 4,442
Ob&=Z2te| IAGI(KMSXIT 2 13944 )
82,5702 191x14J Ax40L 46,240
201 L2 216,700 195,063 21,637
01 Al22t2|H] 45,275 52,947 AT ,672
Otz 43,115
OSAIR AN LEAA 242
130,300 24*502 6,515
OH=sZ 2 or] 33,600
oMSXIT 2 13044
200,00024* 1474 Ax 122 33,600
02LZRMArRE] L IR ST
300,000 %102 X| 3,000
OSA| (=YD Al
9,0002 x3Q1%80A! 2,160
02 2229 171,425 142,116 29,309
02222 2 HAl 165,102
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A
FZH
(e R B

o,
chol:

rar=mnl
SEI1BHEIAL

A
=
S DEHEHIAKS

SA - ZH - S2I(3I) - KIRAR - BaS

Ofl &kl

el
Ol &t

o e

OSSN A (4T S) dolorda
|

0 2t X+ 350,000 +7&
o Ms X+ 1,600,000&+7&
o M X+ 1,010,000&+7&
o W=+ 1,010,000&+7&
o HEHXI+ 1,010,000&+7&
o 2K+ 120,000 78
o S8 (ME) X+ 120,000 78
o =&KX+ 600,000 +7&
o KlelXI+ 1,010,000&+7&
o g+ 140,000 78
ootd X+ 1,400,000&+7&

SN+ 140,000 72
0 BEXF 140,000 78
o &H X+ 140,000 78
oZcld+& 140,000& 62
00|wet=& 710,000 +6E

OSPAHADBAIE(H+=E §) Stz

0 2t X+ 80,000& 123
o Ms X+ 90,000& 123
o M X+ 80,000& 123
o W=+ 90,000& 123
o HEHXI+ 90,000& 123
o 2K+ 80,000& 123
o S8 (ME) X+ 80,000&*12&
o =&KX+ 60,000& 123
o KlelXI+ 60,000& 123
od+Al+ 90,000& 123
ootd X+ 80,000& 123

S3XA+ 80,000& 123
0 BEXF 80,000& 123
o &H K|+ 80,000& 122

o M==XICCTV(2112, OFA, &=, &El)
350,000&*12&
o M==XI=IFEI(210, 08, 23, &)
20,0002 x122

0SB (BT S) &IIR3

oSS X+ 200,0002+7&
o MES X+ 700,0002+7&
oNEXIF 250,000 +7&
o =X+ 600,000 %72
o ZENKIF 250,000 +7&

66,630
2,450
11,200
7,070
7,070
7,070
840
840
4,200
7,070
980
9,800
980
980
980
840
4,260
17,880
960

960

960
960
720
720

960
960
960
960

4,200

240
80,592
1,400
4,900
1,750
4,200
1,750
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2M: A4t

M =YHI|BHEHIANY
=2l sHIIBHEHIAIY (CH]: X 21)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
o2& X7 200,0002x7 1,400
o 2H (ME) X1 100, 000R+7 2 700
o EMRIF 400,0002%7 2,800
o XlelX|= 3,600,0002*7& 25,200
o 5K+ 700,0002%72 4,900
0 BHE X7 2,300,000272 16,100
o ==K+ 300,0002*72 2,100
0 EEXIF 300,0002*7 2,100
o &IAHXIF 300,000 73 2,100
00| W=+& 1,500,000+6¥ 9,000
o M==XICCTV 16,0002+ 122 192
OINF=FSis1E=IN:] 6,323
OStolCHRE 2k=D| 2
500,000&*10CH 5,000
=& TOIEED| RA2E(KFH)
1,470 1002 | E4*90H A 1,323
202 4H| 3,600 3,600
01 2U{0it| 3,600 3,600
Osgogrg e
100,000 %301 122 3,600
elAld XG040 ALY 280,000 50,000 230,000
== 84,000
= 196,000
401 AlEBIZ 20| 280,000 50,000 230,000
== 84,000
= 196,000
01 Al&HI 280,000 50,000 230,000
OLE FEXT 842 NEAH(1=400m)
180,000,000& 180,000
= 54,000
= 126,000
O&E UIotXI 7 &2 FHIAY (L=150m)
100,000,000& 100,000
== 30,000
= 70,000
THoHRIE M==X| QrMEICH 20,000 20,000 0
== 10,000
= 10,000
401 AlEBIZ S| 20,000 20,000 0
== 10,000
= 10,000
01 Al&HI 20,000 20,000 0
OLR SY=2H=X HUHMAIC
20,000,000& 20,000
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SA AL
I SYIIBHEHIAE
=2l sHIIBHEHIAIY (CH]: X 21)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
= 10,000
2 10,000
SOENAA NSAE)| SAAS- NS AN 60,000 60,000 0
=(HEALY)
< 137,600
= 22,400
401 AIZHIZL R0 160,000 160,000 0
< 137,600
= 22,400
01 Al&HI 160,000 160,000 0
OsLEN =X NHSHZI| EXIAL (4H2)
40,000, 000244 7H 4 160,000
= 137,600
2 22,400
SIIEEH (RN )-A 2 e A E RS (E e 400,000 0 400,000
2)
< 344,000
= 56,000
401 AIZHIZL R0 400,000 0 400,000
< 344,000
= 56,000
01 AlZ2H| 400,000 0 400,000
OlHetE M ==Xl HE+=AH
400,000,000& 400,000
< 344,000
= 56,000
LS ENLAIS 13,994,988 5,218,505 8,776,483
DI MNXITR)-KI H 22N L (M EAI) 644,320 644,320 0
403 AXIEHSAH=01E 644,320 644,320 0
02 S| 2SOILEHIZ2 AP EAL 644,320 644,320 0
OAIHXIF RIE= SN AI (EHE)
644,320,000& 644,320
I ZMEIT )| H A2 L (HEAIY) 1,500,000 1,000,000 500,000
401 AIZHIZL R0 1,500,000 1,000,000 500,000
01 AlZ2H| 1,500,000 1,000,000 500,000
OJIHBI B AR &AL (HE)
1,500,000,000& 1,500,000
I ZHUERITRHAS - MK ) -SESS SE3IA 8,700,000 0 8,700,000
S (HEAIY)
403 AXIEHSAH=01E 8,700,000 8,700,000
02 S| 2SOIUEHI2 A2 EAL ] 8,700,000 8,700,000
OUIS - A7 SZE2+ G2 (HE)
8,700,000,000& 8,700,000
J|=MEOITeH( S =X])-X B2 2 LA (A 2,150,668 0 2,150,668
EAL)
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DA 244D}

HE: =0)|BHEHIANY
£l LPFSEINLAIY (el &)
SA - B O9(3) - NIRAR - BaS Ol &b e e
NEEEETT] 2,150,668 0 2,150,668
AlZH] 2,150,668 0 2,150,668
O-SHAR NESBUNLAL (HE)
, 150,668,000 2,150,668
DJEXELIEE |7)-AR2ESHLAI (H 2 1,000,000 0 1,000,000
At)
403 XSS XH=01& 1,000,000 0 1,000,000
02 2 2SS A=A RIS AR 1,000,000 0 1,000,000
OME BEXT ARRESINLAI(XE)
1,000,000,0002 1,000,000
SIBIAIE SXIRRIAR 1,940,270 2,436,006 N5 736
222 FelAERNZeAY 1,190,270 1,256,006 165,736
NEEEETT] 1,190,270 1,256,006 165,736
Al&H] 1,186,000 1,251,500 65,500
Ozl MoKl &S &E HHAK
600, 0002+ 18571 423 222,000
Ol & 42 SRS HHAK
10,000,00021%20 74 A 200,000
Ozl 2L (HEX, SHiaz, BF,
UST) FAI2E 10,000,0002*30H 4 300,000
Obi+% |x2el 10,000, 00021% 1474 A 140,000
Obi4Z 2EAILS HUINAIE
12,000,000 %2714 24,000
ON4X 2EAILS HUINAIC
20,000,00021%37H 4 60,000
OsYE Kot BRY AIE22IES
10,000, 00021 %47 4 40,000
ON%Xl ElXg =LA
15,000,00021% 1074 A 150,000
SQI|EAIL 022X A
10,000,00024+5Z X 50,000
03 Al 0] 4,270 4,506 7236
O222| $2IAEKTIZRIAIRS AL
1,186,000, 00024+0. 36% 4,270
ZAEE] el AESA A 750,000 700,000 50,000
403 XSS XH=01& 750,000 700,000 50,000
02 2 2SS A=A R E AR 750,000 700,000 50,000
ONEYLST U2 WHBA
200,000,000 200,000
ONSE42M 22 o HEMAUL)| 12
Al 150,000,000} 150,000
OSHEd XLFHAUR 42 SIS
200,000,000 200,000
OIS AEXIT B2 SXIA
200,000,000 200,000
=2{J|BF FOI=AALY 5,777,775 7,462,000 1,684,225
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S =HI|BHEHIAS

CI2|: =oi)|BF =012l ALY

9 =2 A (Co] e
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SH - BB S2I(3) - KIRA - BE= Ol st e SmE=
=0[8E F=0I=S2 ALY 1,987,128 2,919,473 A932,345
401 AlEBIZ S| 1,987,128 2,919,473 A932,345
01 Al&H| 1,980,000 2,909,000 A929,000
Ogsii2 HYel 842 JUISAH
200,000,000 200,000
OFY 2UE E42 B4+3A
120,000,000& 120,000
O&EE ZXNEHLXT S22 HSFSA
400,000,000 400,000
OZgs =Z4X 2til+=2 HUISAt
180,000,000& 180,000
OOtE0IE 22 JHISAt
250,000,000 250,000
OME(2S) X7 =2 ZHISAL
120,000,000& 120,000
OZ0I0tE =& LY=2AZ MHESA
300,000,000 300,000
O2A=L0t2 01 Eli=Z FHIAIY
200,000,000 200,000
O&E Uo7 E+2 ZHISA
160,000,000& 160,000
OZ=80ls =8 AeAd LAY
50,000,000 50,000
03 AIES20HYI 7,128 10,473 A3,345
OAl4 20| 1,980,000, 000%0 . 36% 7,128
MES SIEE=SRANY 241,728 423,024 A181,2%
401 AlEBIZ ST 241,728 423,024 A181,2%
01 Al&H| 240,000 420,000 A180,000
OXl40tE gats Sll+=Z HUISA
70,000,000 70,000
OgE0tE M=Kl |12 ZEBAF
40,000,000 40,000
OsZ0I2 A= Slil+=Z HUISA
40,000,000 40,000
OZMOE AH0HZE Si== HHISAt
50,000,000 50,000
OZETHOIS JtasY =2 2 =2 JHIZ
At 40,000,0002! 40,000
03 AlE=CHYI 1,728 3,024 A1,296
OAl4 20| 240,000, 0002%0.72% 1,728
X S|t 3AAY 365,614 443,168 ANTT,554
401 Al&BIZ ST 365,614 443,168 ANTT,554
01 Al&H| 363,000 440,000 AT7,000
O&g I8 L HEE 2452 E53A
100,000,000& 100,000
ORN TEE L MBS 245 JHISA
80,000,000 80,000
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S =HI|BHEHIAS
CH9l: S0iD|ut 2012 Al (Ctol: mi2)
el o 0 ke
SA - B O9(3) - NIRAR - BaS Ol &b e e
OZElls Y= LB HESA
50,000,000 50,000
OLEARA == HUISAH
23,000,000 23,000
O&lll gtz st AXI3A
28,000,000 28,000
Ot HiobIE 222 EXISA
26,000,000 26,000
Ot Sl= FYUE EXSAM
30,000,000 30,000
O34 478 ZXEel W =2 EUISAt
26,000,000 26,000
03 AlIES20HYI 2,614 3,168 ABB4
OAlZ R0Hd| 363,000, 0002%0.72% 2,614
QEH S |B=RIALY 392,808 332,376 60,432
401 AlEBIZ 20| 392,808 332,376 60,432
01 Al&HI 390,000 330,000 60,000
OLE 2= SHi=Z JHIBAM
35,000,000 35,000
O] &Y =2 & =2 ZHISA
40,000,000 40,000
O=E sti=2S Etll=2 WE=SA
70,000,000 70,000
OUlE %S 842 HE4 SAl
60,000,000 60,000
Og= 2+ fIE s2 W SAt
40,000,000 40,000
O NEZE =2 2 =2 ZHISA
55,000,000 55,000
OBY SIS 842 &7 TA
30,000, 0008 30,000
Oz== &3 82 &X SA
30,000, 0008 30,000
O2%s ZXFEelX+ S==IHHDI| EXIZA
30,000, 0008 30,000
03 AlIES20HYI 2,808 2,376 432
OAlZRUb 390,000, 0008+0. 72% 2.808
ME S|B=RANY 510,195 546,421 36,226
401 AlEBIZ 20| 510,195 546,421 36,226
01 Al&HI 507,000 543,000 36,000
OUHANRE EZ ZHISA
50,000,000 50,000
O3tE sHIE =2 EXBAM
12,000,000& 12,000
S8 S SAUZ ZHISA
24,000,000 24,000
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Hm: =0lJ|BHEH| A
CH2l: 017|B OISR AIS (Siof: x=1)
el o 0 ke
SH - BB S2I(3) - KIRA - BE= Ol st e SmE=
O Z00S 20+ Z0I=A
60,000,000 60,000
OUE 2HS 58 TRTA
36,000,000 36,000
OTI| 9IS Hi2 HHIZAF
40,000,000 40,000
OBE 25 SH4+2 ZHIZAl
80,000,000 80,000
OTE US Hi22 HHIZAF
45,000,000 45,000
O31E 2= S22 FHIZAF
40,000,000 40,000
O] EE SBHh4+2 FHIZAF
44,000,000 44,000
OHY S 822 XA
16,000,000& 16,000
OEX 2= JIISHY MXTBAF
60,000,000 60,000
03 AlIES20HYI 3,19% 3,421 A226
OAIE 20| 507,000, 000%0 . 63% 3,19%
=2AH S |EE=SRANY 347,484 438,132 290,648
401 AlEBIZ S| 347,484 438,132 290,648
01 Al&H| 345,000 435,000 A90,000
OTAHME]) 282252 HE A
80,000,000 80,000
O=4 MHFE BHA2 2L2A
40,000,000 40,000
OT0F PAIZ BHIAZ HHIZA
50,000,000 50,000
OBE APRHI4Z HABAl
30,000,000 30,000
OMEZEDIE B4 HHIZA
25,000,000& 25,000
OS2l A2 BH+2 HHIZA
65,000,000 65,000
OUE 252 52 Y 22 FHIZAF
30,000,000 30,000
O%HIE B4 XA
25,000,000& 25,000
03 AlIE=S20HYI 2,484 3,132 2648
OAlIE 20| 345,000, 00024%0.72% 2,484
ANH I |EE=SRANY 184,318 397,844 A213,526
401 AlEBIZ 20| 184,318 397,844 A213,526
01 Al&H| 183,000 395,000 A212,000
OCIRIOIZ Bi42 HIBA
23,000,000 23,000
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SEI|SHEHIAY
SYJIEH FOI=SRAY
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HEE

2A -3 - A(3) - MRAKY - BES Oil &bl Ol AFoH HlwsZ
O&E0I2 =2 ZUIZAt
80,000,000 80,000
O&Stile 282 #H ZHIZ2At
80,000,000& 80,000
03 AIES20HYI 1,318 2,844 21,526
OAlZ=Thtl 183,000, 000240, 72% 1,318
AES S0 |Bt=3AY 161,152 336,405 A175,253
401 AlEBIZ 20| 161,152 336,405 A175,253
01 Al&HI 160,000 334,000 A174,000
O&agilE =2 &XIAY
20,000,000 20,000
O&XI0E =2 FUIAY
20,000,000& 20,000
Osklie 2 FUIAY
120,000,000& 120,000
03 AIES20HYI 1,152 2,405 1,253
OAlZ=0bl 160,000,000 +0.72% 1,152
SN =)= RAAAY 464,320 519,251 Ab4,931
401 AlEBIZ 20| 464,320 519,251 254,931
01 Al&H| 461,000 516,000 Ab5,000
oAl s&8X &2 JUISA
80,000,000 80,000
OZE(22)0I2 s2 2 =2 FHHIBA
70,000,000& 70,000
OEFOE =&KX &2 JUISA
50,000,000 50,000
Otig =2 2 =2 FBISA
45,000,000& 45,000
OZclite =sZA Siis== HHISAt
48,000,000 48,000
O3210I28 =&KX &2 JHISA
50,000,000& 50,000
OCI=0t8 =&KX &2 JUISA
48,000,000 48,000
OZEIE =&KX &2 JUISA
30,000,000 30,000
OU2oEe s&X &2 JUISA
40,000,0002 40,000
03 AIES20HYI 3,320 3,251 69
OAl4 20| 461,000,0002%0.72% 3,320
AlOHH =T |E=SRANY 256,836 317,268 60,432
401 Al&BIZ ST 256,836 317,268 60,432
01 Al&H| 255,000 315,000 260,000
OgsitE Eti+== HESAt
30,000,0002 30,000
OO M=Kl HUISA 50,000,0002! 50,000
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M Soi)[BHEHIAI
Eelr 5|8 F=0I=SRIANY (el &)
SA - B O9(3) - NIRAR - BaS Ol &b e e
OAZ0IE 842 J0I=AF
100,000, 000! 100,000
OHOIIS SUR Hi42 JHIZA}
30,000,000 30,000
OZE0IZ BU42 HHIBA
15,000,000 15,000
OHS0IZ BUH4=2 HHIBA
30,000,000 30,000
03 Al&=CHYI 1,836 2,268 AN432
OAl4 20| 255,000, 0002%0. 7% 1,836
MO0 =2 [orERALY 397,844 325,326 72,518
401 ANEBIZ200] 397,844 325,326 72,518
01 AlZHI 395,000 323,000 72,000
OUZOIS QIetstals SHi4E MHIZA
50,000,000 50,000
OIP(DE)0IS =2 HRBA}
50,000,000 50,000
ODXIDIS HA+ Hi2 HXIBA
30,000,000 30,000
O SHBS2 L Hi42 HEIBA
30,000,000 30,000
O30S LB SHi42 HIBA
80,000,000 80,000
ODXIDIS S 42 LXITA
40,000,000 40,000
OIPH( DA OIS BXE HABA}
70,000,000 70,000
OHEDIZ 42 HHIZA
45,000,000 45,000
03 Al&=2THY 2,844 2,36 518
@=Ll 395,000, 00024%0. 72% 2,844
AEH SoD|BFEEAY 468,348 463,312 5,03
401 ANEBIZ20] 468,348 463,312 5,03
01 AlZHI 465,000 460,000 5,000
OLHDIS JIHEARE FH|IZA}
60,000,000 60,000
OARDIZ 842 FHIZA
40,000,000 40,000
O X2@ 2H+2 MHIZA}
80,000,000 80,000
ONMDIZ BUI%2 HHIZA
90,000,000 90,000
OUFDIZ BUI4=2 HHIBA
80,000,000 80,000
OS20IS 42 JHIZA
15,000,000 15,000
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SA - B - S9I(E) - RN - BaS ol ChE HIDS2
OZHOIS SHH=E ZOIZAF
40,000,000 40,000
O%HOIS S22 ZHIZA}
60,000,000 60,000
03 AlE=CHY] 3,348 3,312 %
OAIE 20| 465,000, 0002%0. 7% 3,348
ol & Tt =7 52 2E 7,124,000 4,013,000 3,111,000
=2 3,562,000
S 1,781,000
2 1,781,000
THOHOI AT 7,124,000 4,013,000 3,111,000
=2 3,562,000
S 1,781,000
2 1,781,000
AIS(200) KFATHAHIEIHAXIT FHIA 7,124,000 1,000,000 6,124,000
=2 3,562,000
S 1,781,000
2 1,781,000
401 AU LS 7,124,000 1,000,000 6,124,000
=2 3,562,000
S 1,781,000
2 1,781,000
01 Al&HI 7,124,000 1,000, 000 6,124,000
OAIS(£01) KHATHAHIBIHAXIT FHIAL
& 7,124,000,000 7,124,000
=2 3,562,000
S 1,781,000
2 1,781,000
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